


20

21
23
24

— ™M I~ o0

I N M I 1O © i~ O



11,900 °?

290
19

19

JR

2,475m

367km

25 19 20
70

JR

18



i ) u A =i (1, 97Tm)
(j‘ N
i .0
HER
R o#
" FHR
;g,,.% &)\\2 68 \ ; et
' ."ﬁ' e 1]
oy & A
B & < 7 5 e
/. \ : i;mmam
e it 7 (E7K)
(3, 024m) ® IEiMm
A BB
Ny &
£ '{2.8999}1
,\,»/ FiiEs &
N "
1-1
1-1
367km" 1
11,900km? Y 3
2 5 2 2
3)
13 14 17 H19 12
1
25 19 20
290 4 4
880" ( )
1) 2004
2) HP  http.//www.pref.niigata.jp/soumu/shichouson/gappei/
3) HP  http://www.pref.nagano.jp/soumu/shichoson/gappei/
4) H7




2 1742
1655 1660
15 1730
29 43 44 5
6 10 2,785m*/s
5570m°/s
7
16
20 24
24 9
20 10 24
3,250m°/s 6,500m°/s
28
33 34
37 4,000m3/s 3,500m3/s
7,500m3/s
2
8
17
4,730m%*/s
5,290m*/s 19
35
29 8 30 9



40

16

0Om3/s 2
17

2,100m3/s
37

39

7,500m3/s

9,000m*/s
100m3/s

46 13.32km

2,500m3/s

5,570m3/s 42
11

11 10 9
9,000m*/s
23
35

11
1,530m%/s
1,960m3/s 20
1.0 15m

19 7 28

36 39
40

40
4,000m*/s 3,500m3/s
6,500m3/s
3,400m3/s
3,500m3/s

3,200m*/s 47
40 13.32km

49
11,500m3/s
9,000m3/s



30 40

13

2,500m3/s
9,500m3/s

58

49

5,500m3/s 4,000m3/s
13,500m3/s
11,000m3/s
2,500m3/s 5,000m3/s
4,000m3/s
4,000m3%/s

61 57

62

16

49

60

45 5
52
53
53
56 8

47 2
11

58

18



13 6

54 53

16

58

10
15
16

16 10
48
59
56
3
11

15
19

62

53

11

10



13 741
4 888 2
(1742 )
29
3-1
2
(m3/s)
(mm)
29 7 75 2 5
43 8 259 12,873
6 10 76 19
1 3 49
15 7
(250 120 )
42 102 4
20 10 173
(2204 4843 )
3 1 1 (
27 7 129
156 1858 )
33 9 122 7,320 19 (4429 7,723 )
65 1,391 4,091
34 8 155 6,900
( 4,238 10,959 )
1 ( 41 1,084
36 6 107 7470 )
3 80 ( 2,407
36 8 239 2,670
7138 )
21 ( 5,072
42 8 205 2,430
12,496 )
21 10 (4207
53 6 345 2,270
9,035 )
56 8 138 10,140 2 ( 1,446 1502 )
54 2 ( 3794
57 9 166 7,300
2425 )
9 7 8 (
58 9 177 7,990
3,891 2693 )
15 169 810
16 7 276 4,080
( 10,712 6359 )




4.1

49
11,500m%/s
13,500m%/s 4,000m3/s
1)
17100
150
2)
2
44 44 2
17100  186mm/2  ( )
17150  171mm/2 )
1/150  270mm/2 )
(3)
4)
)
34 8
36 6 36 8 11,500m%/s
13,500m3/s 4,200m%/s

4,200m3/s



4.2
49

53

16

17150

S49
__]

186mm/2

S01
S06
S11
S16
S21
S26

14000

12000
10000
)

= 8000

.
6000
4000

2000

4-2

— (o) — [{e] — [{e] — (92} [ee) o [ee]
o™ o <t <t 0 n [{e) o o — —
()] [0p] [7p] (92] (92] (92] wn T T T T

2 18

11,500m*/s

S49

— [{e] — [{e) — [{e) — o [ee) o [e0)
o™ (92] <t <t L0 0 [{e) o o — —
[9p] [p] (] [9p] wn wn wn T T I T

18



—~ 250
~ S49 —
N L
g 200 _ 171mm/2
150 i
« 100
50
0
— [{e) — O — © — [{e) — O — © — o [ee] o™ [e 0]
o o — — o [9N] o™ o <t <t L0 L [{e} o o — —
wn wn wn [9p] [9p] [9p] [9p] (] ) (9] wn [9p] [7p] I I I I
4-3 2 18
20000
18000
16000 -
| 13,500m*/s
2 19000 |
£ 10000 S49 |
8000 =
6000 |
4000
2000
0
— [{e] — [{e] — [{e) — o [ee] o [e ]
o o™ <t <t [To) [Kp) [{e) o o — —
wn ()] ) ) (92] ) (92] T T T T
4-4 31 7
—~ 400
~ 350 _
> S49
E 300 270mm7 2
250 —
200 -
o 150
100
50
0
— [{e] — (Lo} — (o] — [{e] — [{e] — [{e) — o [ee] o [ee)
o o — — o o o o <t <t Lo L [{e) o o — —
[9p] [9p] [9p] (5] [9p] [9p] [9p] (5] ()] (9] [9p] ()] (9] T T I I
4-5 2
6000
5000 .
. 4,200m°/s
© 4000 7
% S49
£ 3000 (
2000 l i —
HnThonil
0
[{e] — [{e] — [{e) — o [ee) o [e0)
o™ <t <t o n [{e} o o — —
[9p] [9p] (] [9p] ()] [7p] I I I I
4-6

-10-



43
49

1)

S.57.9.12
12000 [EHTPF ——r 0
- ORI —

10000 N ° 10
= 8000 ZOE
«E 6.830m°/s( ) 6,754m°/s(__) g
= 6000 | -

4000

2000

0 Dt ol ot 0 i ol e o o e e T R T N NN 60
NOOANDAOMOOAUNDAOMODNINOAOMEONNI OO MO DN O
i i i i i

4-7 57 9

-11-




S.57.9.12

12000 [=oqp— = 0
W W —
10000 b 9.611m*/s( ) 10
- 8000 [ 20 —
L £
“e E
= 6000 [ 30
4000 [ 40
2000 | 50
0 HH?\ATHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH\HHHHHHHH 60
MOOANOAOMOWOANLLOMAOMWOOANLLOOMATOMWOOANLWOWMAOMWOO N L O
\9| — — — —
4-8 57 9
H 7.8 3
3000 oo 0
O L =
2500 H ° — 10
—. 2000 - 20
N £
mé 14860/ ) 1,500/ ) E
1500 ’fé{yv 30
)
]
9
1000 R 40
°°o°
500 2 50
p! 0
0 ] A A 60
M OOANIOVATOMOOANL O ATOMOOOANLOO 1OMmMm OO
N — = NN\ — = N\ — == N\
[9V] o < mn
4-9 7 8

-12-




(2)

17100
10,800m*/s 11,800m3/s 1/150
12,100m%/s 16,000m*/s 1/150
3,700m3*/s 4,300m*/s 11,500m3/s
13,500m3/s 4,200m3/s
1 1
[ F1EERTE S ] : :
%5 I I ERE ﬂ?@ﬂ . %EH
T - ohma TR T — 17 10, 80
% REEE S —— 100
on | MEEIHTE ] | 50 0o 3/
C S S g 1o
o5 L L e 20 —
By 4 B 2l
o T i ! —
a0 . Al 5
70 »”
F[¥] i TIE]
30
20 =
10 . o R —
5 Y e —
ﬁ 5 I —
neilos LM2FM  ——
1 “ ]
500 1000 2000 5000 10000 {mase)
4-10
4-1 1/100
(m%/s)
GEV 11,600
11,800
11,800
3 10,800
2 11,500
2 11,200

-13-




T

al

[ 1 1
[ 3480 ERETEE : : :
T B | /4 N L
T A T
=S e TR
on Y g T =i I S
1 1
95 — 20 —
H ] 1 1
a0 £ P 1
a0 5
5 TEE]
Gumbel —— |
Giey R —
LogP3
Twai —
IzhiTaka
LN3G ——
LM3PM 3
LMZLM ———
LMZPM ——
1 i 4 S i — e
500 1000 2000 5000 10000 20003
4-11
4-2 1/150
(m3/s)
12,500
13,900
14,300
14,300
12,100
3 15,700
3 12,100
2 16,000
2 15,500

-14-




of%
58

o8

95
90

a0
70

FI¥]
50

30
20

1m0

7T

100
al

[ 3 ETEARTESSE ) )
| ~ m ﬁ 2 41 300m*/S
kR (SR Ik i
w2 R T 1
52 A L
y oy 1
GRAE )
PE 1
i TE)
¥ by
LEg ! Sgrikt
7 A Gev — |
; 1'! ; LogP3
tok LN3G —_—
500 1000 2000 5000 {m3 =)
4-12
4-3 1/150
m3/s
4,000
3,700
GEV 4,300
4,200
3 3,900

-15-




3

10,700 12,400m*/s

12,500m3/s 15,500m3/s

-16-

4,800m3%/s

ECAAS TP 35 5on .
060 7w’

2

29

1724



29

4-14

H16.7.13

9/91

ve/al
81/41
¢1/41
9/61

ve/vi
8T/¥1
/vl
9/v1

ve/el
8T/€1
¢/
9/¢1

ve/cl
81/¢1
c1/cl

16

4-15

-17-



®)

16000 18000
16,000
N nao pao | % smew T
12000 | - = T 14000 | 5 | t
10000 © 10,800 10,700 500 T 12,100 12500
> eN10000 [ ----------- =TIl
E 8000 | E
8000 |
6000 | w0 |
4000 |- m oo w000 |
2000 | 2000 |
0 0
S31 H18 2 S31 Hi18
6000
4,800
9T sk 4,300 ©
4000 [ o I
= 3,700
E3o000
2000 |
1000 |
0
s31 i 77
* ’ 16.7
4-16
4-7
(m%/s) (m3/s) (m3/s)
11,500 10,800 11,800 10,700 12,400
13,500 12,100 16,000 12,500 15,500
4,200 3,700 4,300 4,800

-18-




S34.8.14

100

°/9 a0

,500m

20000

4000 - -

9/91

v¢/ST
81/S1
¢1/ST
9/51

ve/vt
8T/V1
[4744"
9/v1

ve/eT
8T/€1
cT/eT
9/¢€T

ve/et
81/¢1

[4744)

$56.8.23

20000

16000 --

2000 --

81/G¢
¢T/Se
9/G¢

ve/ve
8T/v¢
¢T/ve
9/v¢

ve/ec
8T/¢€¢
¢T/€c
9/¢€¢

ve/ee
8T/¢¢C
¢t/ce
9/¢¢

ve/1e

S36.8.6

o
O O O © O o o o o O
" N ® ¥ b © ~ © o
7 T T T ,, 7 7 7 T
| | | |
[ e e R
| | | |
L | o | —
| | ] |
| | | |
Y |
| | | |
| | | |
el I ihm ==+ -4 == - —
i | |
- _ ,m | | |
L =3 I
T 1N | |
| 1< | | | i
| | | | |
| | | | |
| | | | | i
| | | | |
| | | | |
F-tmm————— = =4 -+ - =
| | | | |
| | | | |
| | | | B
| | | |
| | |
| | | 7
| |
e o o |
|
|
| i
|
| |
== = s
| |
| |
B
| | | | |
| | | | | i
| | | | |
| | | | |
1 1 1 1 1 1 1 1 1
O O O © O 9 © © © © o
©O © © © © © © © © o
© © © © © © © © © o
g ® ® ~ © 1 F ® o
(s/qw)

¢c1/8
9/8

vesl
8T/.
/L
9/L

ve/9
81/9
¢1/9
9/9

ve/S
81/
¢1/S
9/§

ve/v
8T/¥

4-17

-19-



11,500m%/s

13,500m%/s 4,200m3/s
9,000m3/s 11,000m3/s
4,000m3/s
9,000m3/s 11,000m3/s 4,000m3/s

-20-



5,500m3/s

9,000m3/s
3,600m3/s
4,000m3/s
9,500m%/s
11,000m®/s
2,500m3/s
5,000m3/s
!
!
—
o i
!
2,500 ;
o i
< A
g @ . = °
i
~11,000 ~11,000 «9,500 : ~9,000 ~5,500
e o ] o i :
i >
! o
38
1
w
oy
8
6-1

-21-



om3/s

2,500m3/s 400m3/s
3,200m3/s
4,000m*/s 4,200m3/s
3,200m3/s 1,000m3/s
o [ | ) o l/
1,000 4,000 3,200 2,500
3,200 T 4l00
o
/
6-2

-22-




82

A W N P

7-1 6
7-1
7-1
km T.P.(m) (m)

186.4 1 361.36 400

155.3 1 334.95 230

80.7 1 146.75 170

453 1 49.74 420

444 2 13.20 230

40.6 2 12.25 450

31 2 3.97 290

0.0 1.10 280

9.1 1 16.24 780

0.0 1 494 280

0.0 2 2.30 250

54.3 4 506.07 140

9.0 4 365.18 360

13.7 3 92.75 170

10.8 3 85.15 210

(TP

-23-




(1)

(2)

3

18

8-1

km

2617 50.1%

164.8 31.5%

377 7.2%

586 11.2%

1190

641.8

226,000

38m*/s
28.25m%/s
180m*/s

~24-

20,000 md
18000 m
12600 m?
3930 m
2308 m?
13750 m?
8700 m?

w

251,000 m?




T-1

98'Cry |L29TV

G¥7'G6€

¢0€LE

9¢'85¢€

L€05€

0S'vve

6E0vE

T€9€EE

§9'9¢E

Sy'ece

S¥'0ce

98'GTE

L¥'60€

¢0'L0¢€

87'10€

89'00€

(wd1)

0L'Gvy |88'8TY

¥6'96€

¢89.€

¢9'19€

T0'2S€

¢eove

80'¢ve

96'LEE

LCTEE

9/°/C€

|4 x44

06'LTE

[4 XA

80'60€

16'90€

G8'¢0€

(wd1)

SL 1Sy |SCvey

0L T0Y

0S'1T8€

0,99€

09'85€

S.'vS€

0c'0S€

08'vve

0T'6€€

¢0'9€e

99vEE

V2 Zee

€6'€Ce

0,°8T¢€

S6'9T€

0v'STe

(wd)

0'S0T

000T

096

0'06

0's8

008

0'sL

00L

099

0'sS

0'sy

oov

0'se

0oc

0'se

(wp)

0°0TT

0°G0T 07007

0796

0706

0748

0708

(wp)

070

0799

0709

0°s€

0°0€ 0°G¢

AN

0°0ce

0°0ve

0°09¢€

0°08¢

1)

0°00¥

d

(w

0°0¢v

0oy

07097

0°08Y7

07008

-25-



¢-L

98VET

96977

6¢'86

28'¢e8

G299

8509

99’19

y9'0¥

TE¢ee

§6'¢¢

G991

c0ct

Sv'8

¥9'S

8L°L

Ev'o-

LTS~

(wd1)

L6'LET

IY'6TT

¢eT0T

0798

S9'T.L

LCV9

T9'€S

TTey

[4 %%

T9'G¢

GE'6T

484"

S9'TT

¢e0T

9.'6

67’7

cce

(wd)

8E'9YT

L6'GCT

18'20T

18'¢6

0,18

8¢0.L

G565

EV'0S

ET'TY

L0€E

67'9¢

8¢'ce

G861

0081

6€9T

LCST

6’7

(wd1)

099

009

0SS

008

oSy

oov

0'se

0oc

0'se

0'0¢

0'sT

00T

0'S

00

oy

88

()

0708

0°6L 0°0L

0799

0709

0789

0708

0°Sy

0°ov

(w)
0°5¢

0°0¢

0°9¢

0°0¢

0791

T~

0°0¢-

070

0°0¢

0°0v

0709

0°08

dl)

0°00T

(w

0°0¢T

0"ovT

07091

0°08T

0°00¢

-26-



€L

090

TL¢C

9T'0-

9T'T

18T~

8.1~

69T~

86T~

00v-

08'¢c-

80'G-

G8'G-

00y~

(wd)

0o0€

¥ee

89'¢

€9'¢

LE0

9T'0-

¥0'0

0¥'0-

VLT~

8L'T-

18°¢€-

18°€-

00~

(wdl)

0L€T

0TeT

0T'etT

0T'TT

Ly'0T

¥5'6

19'8

08,

€6'9

909

6T'S

0cy

0ge

(wdl)

08y

0vy

ooy

0'9¢

0¢ce

08¢

08

[0)7%

00

()

0" 0¥

0°0¢

0°9T

0°0T

0°S 070

AS

ANV

A A\ =

0°8-

0°9-

0" v-

0°¢-

0°0

0°¢

0y

079

0°8

(wd1)

-27-



L¥'689

v'sv9

88'T09

§G¢'€9S

05'SES

8C€TS

9.'66%

9009€

19'Gv€

91'9€€

(wd1)

00¢69

¢8'LY9

89'G09

TEV9S

€8'LES

LT'STS

68'00S

6€'T9€

€05€

86'8€E

(wd1)

07'269

T¥r'2s9

ST'609

1€'299

€0'TYS

89'6TS

¢y'L0S

€0'69¢

¥2'SSE

0C'sve

(wd1)

0S8

008

0'GL

00L

009

0'sS

00T

0's

00

(w)

0718

0°9L

(uny)
0°TL

0799

0719

0°0T

(u)

0°§

0°0

0-o0ce
0°ove
0°09¢
0°08¢€
0°00¥
0°0¢v
0°ovy
07097
0°08%
07009
0°0¢s
0°0¥S
0°09S
07089
07009
07029
0°0v9
07099
07089
0°00.
0°0¢.
0°ovL

(wdl)

-28-



S-1

o
L6TET v8'€eT 9ZGTT ¥0'L0T 8/'86 1206 678 09'9L 8719 1885 8675 (Wdy)
. . _ _ _ _ _ . . . _ (wdl)
STVET L¥'STT 899TT 8£'80T €T°00T 1726 6778 192L 1759 8209 Z€95
) . _ _ . _ _ . . . _ (wdl)
9g'/ET 65627 20027 Y6'TTT 62°€0T 9£'96 7868 80°€8 €8°TL £8'99 €829
. _ _ _ _ _ _ _ . . . (w)
S0'.2 5052 Sv'ze 5002 SYLT 0'ST §Z1 00T 0'G ¥4 00
(w)
0°0¢ 0792 0°ve 0722 0702 0°8T 0791 0°vT 0721 0°0T 0°8 079 0y 072 070
0°0v
— 0705
| b\ 0709
0°0L
0°08
0706
0700T
3
o
07017 =
= 07021
\ 0°0€T
0°0vT
0°0ST

07097

-29-



9-1

STv-

GLE-

901~

0L'G-

Ly'e-

LTV

6911~

wit-

96'TT-

(wd)

ov'e-

6€'¢-

A A

98'¢-

§9'¢-

122%

16'L-

00¢tT-

06~

(wd1)

€LT

69T

Wi

0€'T

9¢T

[

8T'T

V1T

oT'T

(wd1)

()

09

0¢

00T~

N

08-

09-

0v-

0¢-

00

0¢

(0h%

09

08

(wdl)

-30-



